LWOEm  FEI0T. Z2OMORITIAR (R7.3-R7.7)

FEOOS | rvorTyy | BEE | B =]

TERRE| X Ik |ERBRS| 3 Kk | 3 k| 3 R | SEERS| 3 Kk
3/3~ 65 1 38 5 18 EmIRS
3/10~ 52 2 21 3 14 WD EHDERS IS
3/17~ 32 1 26 4 26 AR SR + INER 8hesR
3/24~ 43 2 22 14 1
3/31~ 22 8 3 18 3
47~ 15 1 12 11 3 4/7TXKD ERBDESE
4/14~ 13 11 4 2 WD EHDERS IS
4/21~ 16 10 2 14 3 AR 452 + INER 5hesR
4/28~ 11 4 10 e 2
5/5~ 5 16 8 4 1 IR |
5/12~ 4 9 2 2 12 SBERKDRITHP
5/19~ 2 5 1 4 5 1
5/26~ 8 3 2 9 1
6/2~ 15 7 8 4 E=A
6/9~ 5 6 11 1 THERES  ZMULIR. 2TRES
6/16~ 6 5 8 4 1 MATENRE~SKREICIED
6/23~ 5 9 3 e 2
6/30~ 11 1 3 14 12 3
7/7~ 16 2 8 10 7 2 |gRoo7 |
7/14~ 23 1 2 12 18 RAADRBRENE
7/21~ 20 2 1 11 3 CEBRIRENTRAD S RKRZE
7/28~ 28 1 2 11 e 2




